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Question Number : 1 Question Id : 945596801 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

A nurse can work in the following places except

2,8 5B &2 1BOA (DTFOES ST B D DODIT)

Options :

Schools

| % OFOEN

Hospitals

2. % @;}JLF"_@O{?_}J

Community health centers

Z07eeS 88 Toren

3. %

Shopping malls

4 v 20N IS



Question Number : 2 Question Id : 945596802 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which leadership quality is essential in a Nurse for Co-ordination of work
HQ D06 £OHO §H0 SIS & TPODEeh § ©F £90 @S5I0

Options :
Effective communication

1@[@@@&@§@é§ﬁmﬁﬁﬁﬁ

Aggression

L % ST

Isolation

3 % 20806550

Partiality

4$é§$ﬁo



Question Number : 3 Question Id : 945596803 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Florence Nightingale 1s known as the founder of
DI Se3oriexn &3 1806 a7¢3S’ B FHETENT (DG TOOIE?

Options :
Homeopathy

L SO 33

l.

Modern nursing

) ¢ BEOAE SBHoN

Modern medicine

3 % B8 O

Avyurveda

4« SO



Question Number : 4 Question Id : 945596804 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Ethics are

ed (Ethics) €90 ade3

Options :
Barriers

§ 90300

1.

Moral Principles

Je38 QrlEeen
2.¥ = :

Rights

ESVEDY
3. %

Intelligence

L QO0VVOBD)



Question Number : 5 Question Id : 945596805 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

A department which 1s responsible for hospital food services
0D 8 €85358 03N 0BT D0 DO

Options :
Pharmacy

| T

Accounts

QTN

Laundry
L x OB

Dietary

e3:3°%0

4.



Question Number : 6 Question Id : 945596806 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The nursing team is responsible for except

383100 29050 DeE38 DT 2373565 I8N0
Options :
Patient care

58 S0

Diagnosis

56 QTG

2. %
Diet

, x 800

Discharge

4 v DA



Question Number : 7 Question Id : 945596807 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which 1s the characteristic of mentally healthy individual

SSEOMT &S ESOMT &) 958 © & 80 Dade3
Options :

Flexible
y RPEO 500D

1.

Anxious

- SOEHS

Depressed
3 % VO3 DOOLO

Stressed
4 x 295



Question Number : 8 Question Id : 945596808 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is a State level regulatory body for nurses
8§06 ¢3S SBIO N0 T RN JONOHED DOD DO
Options :
Health University
e85 D DT EOONO

Medical Council

, DNEEO TAYO
State Nursing Council
L TR 58300 YO

Government General hospitals

(02065 § et 08 3D DN



Question Number : 9 Question Id : 945596809 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The Nurse is accountable for
50 P8 230566 IO DA
Options :
Doctor’s treatment plan

% TE0 D8S) (DeT D

Thewr own professional practice

L o TOI508 SYBIES 9237530

Hospital profit margin

. E3eD[€3 CTP2TCN)

Tasks delegated to untrained staff

i 28 £ B V2Y0HE @D HN0IAS Dhen
4,



Question Number : 10 Question Id : 945596810 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following i1s a complementary therapy

806 ¢3S DA DBIFBEERS D8ed )

Options :

Chemotherapy

§3°TED
1. %

Surgery

Yoga
3. o &?ﬁ&

Antibodies

DT CIBEEN



Question Number : 11 Question Id : 945596811 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of these 1s an example of a good study habit

DE3S” DA DO 95500 T ENZD ST
Options :
Cramming the right before

S00CNT 2 T SNLO 23T £330

1. #®

Skipping difficult topics
- E 0 90T TPEIDONC0

Regular revision

PR RO 1A AT
3.¢

Studying only during exams

D85 H00HOS ST edaD DT X0



Question Number : 12 Question Id : 945596812 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Immediate care given to the Victim 1s called as

27068038 @OoA0D 4569 D0GE £ @e® DENHD

Options :
First aid

o 26D AT

Medical care

2655 DoBE £

Preventive care

- Qe OGS £

Health education

L x e85 s DS



Question Number : 13 Question Id : 945596813 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The first step in disaster management is

a)ad€) (disaster }QGSJTEE}Q%S FNEES ey
Options :

Recovery

e IS SeD

Preparedness

w, =]
) HOVREH

Response

100€300 )05
3. %

Construction

Q02€20



Question Number : 14 Question Id : 945596814 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

A yellow triangle with a black border symbol used in hospitals indicator

30N ENOS GHTIPNOT IO 0T HAES DN SO (8320230 €3 DN OA

Options :

Fire equipment

. @0 HB8TTen

Radiation hazard

- SAAR |0

Emergency exit

. €95 £03c0 oA} olED

Medical waste

4, % DOFI5TED



Question Number : 15 Question Id : 945596815 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is a waterbomne disease

1808 a7¢3¢S” 3 50 HOBENOT 5 DO

Options :

Cholera

v SeHor

Chicken pox

DB X8

Tetanus

CHeDT® £€50

Measles

4L % BCY



Question Number : 16 Question Id : 945596816 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The organism responsible for causing tuberculosis is

§ 00558 5260005 22D
Options :
Streptococci

(RS’
1. %

E.coli

2.56

2. %

Virus

3. % 08

Mycobacterium tuberculosis

. ELFSBON0 AT 5SS R
4.



Question Number : 17 Question Id : 945596817 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s considered as a Bio medical waste

808 ¢3S DA T DEES S50 HBKEB0TS 23¢EROE

Options :
Used tissue paper

% G300PA0NQ 58923 $° RS0

Leftover food
: ADFONS €830
Soiled dressing from wounds
- TOSTEN A0 D) ANOEMT &) ([Bojoh

Empty water bottles

L x DD AN



Question Number : 18 Question Id : 945596818 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Long and dirty Nails can lead to
SPCsare3 SHOOM SHBE FLH DE38 36 S0NSITH)
Options :
Better appearance
a0 OO0

1. ®

Cross mfections

- 50 @m )80

Healthy skin
eSS HERS TG0

3. %

Good digestion
0D 2Q18aD

4.%



Question Number : 19 Question Id : 945596819 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

A cardiologist specializes in treating diseases related to the

5P OO5r©23R) DE38 H0DOBODS TS DEB IS |HBsEed EON S0LFeH
Options :

Brain

D

1. #®

Lungs

o 0e3eden

2. %

Heart
3 W l}b(:}@

Bones

DedSen
4. %



Question Number : 20 Question Id : 945596820 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Cancer 1s classified as a
52930 O B> SOEB0TTE

Options :
Non-commmunicable disease

v 20D 5% 50

Genetic disorder
2200 3300 Soried

2. %

Nutritional disorder

3 % SPASTIG SHO

Vector bormne disease

380 ©°50° SoEOD T°5H

4, %
Physics
Section Id : 94559642
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Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 20

Number of Questions to be attempted : 20
Section Marks : 20
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 94559642
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 945596821 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The percentage error in the measurement of mass and speed are 2% and 3%

respectively. Maximum percentage error in KE
185635073, SHXNDES” SN B0 ST 2% 0B 3%. (H ¥§ S 16
ES DB H0O DOh

Options :

| x 11%

8%
2.¥

. 2

0
L% 1%



Question Number : 22 Question Id : 945596822 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

A car moving on a straight road accelerates from a speed of 4.1 mv/s to a speed 0£ 6.9

m/s i 5 seconds. What 1s its average acceleration

2,8 85) QD BFrO EOT 525 5 DEES 4.1 N/ Stfo o 6.9 Do/
SH0S 530650 @90, T DFED €6 sB5e0 O

Options :

L 0.56 mv/s-

) 1.56 m/s?

; % 3.6m/s

; |
1.2 m/s~
4. %



Question Number : 23 Question Id : 945596823 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

A force 1s applied for a duration of 10 seconds on a body of mass 5 Kg which 1s at

rest. As a result. the body acquires a velocity of 2 m/s. Find the magnitude of the force

applied

DTZNOS &), 5 865 TS0 (€35550°7 0D 5580 s 10 DEOCS aren
2200 [DAZPAO0IDGB0E. T DEIHOTT €3 6506y BOCH aedd/ L&
5300 THBOT) 213752220 OeH

Options :
1. o IN

, % 2N

4N
3. %

4. % 5N



Question Number : 24 Question Id : 945596824 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

i A A
A force of 21+ 37+ 2 kN acts on a body for 4 seconds and produces
;'*‘.h. ."*‘.i. M
displacement of 31+ 4 J + 5 K. Calculate the power
A A A

258 S50 N TPeNBd DEOCE ;e OO0 St 3j+ YKN

A A A
DBFAOIDAB (23050 DeNS 3 i+4 j+ 5 K @000 aredG 50 Do
Options :
% SW
L% 6W
A

Lx OW



Question Number : 25 Question Id : 945596825 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

When temperature of the body made of brass increases. its moment of inertia

R 5 ABNEY el (165D DODEB 23865 § (2%0EO0 DENI
Options :

Increases

- 20N ENOE

Decreases

5 % bt O

Remains same

- VSO GOLNOE

Becomes zero

AR e



Question Number : 26 Question Id : 945596826 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

A and B are two satellites revolving round the earth in circular orbits have tume periods

8 hours and 1 hour respectively. The ratio of their radii of orbits

BOCH S|fs3Fe0 A DA B 25700 TN H9Ts S E5°edeS 8 o, 2.3
HOL) 358 sPere) e3¢ HOT) 50 arsrTred DA Do

Options :
| % 18

2%S:]



Question Number : 27 Question Id : 945596827 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Two capillary tubes of same material dipped are placed vertically in the same hiquid. if

their radii are in the ratio of 2:3. the ratio of rise of liquud in the tubes 1s
2.3 HTBOE STty TOVDAS Boch IdorPden D Jdenymr 2.8
155065 GO, °¢3 FSTTO DANS 2:3 oS e3 TrREOS (56

ST © DAL DOh
Options :

-

1$@2:3

'\.'j
2. .‘&? e J

3 % 4.9

4% 9:4



Question Number : 28 Question Id : 945596828 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Five moles of hydrogen 1s heated through 20K under constant pressure. If

R=8.312 J/mole K. Find the external work done

QB DRSO B 5 TS © ;AR 20 K 535 I D7D, R=8.312 J/mole K.

a

2°00°8 30D €N )OES

Options :
83127
1.¥

5 % 83.12])

“ 166.24 1

16.62 1
4. %



Question Number : 29 Question Id : 945596829 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Relationship between P, V and E for a gas 1s, 1f P 1s pressure.V 1s volume, E 1s energy

P, V 50005 E 2,8 3*AiNe)dE) Q0D0H0DS TPHED 900 a°¢3
SEED0D0C0, P ST S0, V @S DIDOSTEI0 E @S $8

Options :

P=3/2 EV
1. ®

, x V=2/3EP

T—"/
Lo PV=2/3 E



Question Number : 30 Question Id : 945596830 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Two charges of equal magnitude and at a distance of ‘r” exerts a force’ ‘F on each other.

If the charges are halved and distance between them is doubled. then the new force is
5,8 HBSITE0 (10> BOH DENES 937N ' S 0S BSOS o°e3 0SS
20 F. DN e8533°0) DOITETR) T8 687070, °¢3 50635 CrTrR)
B30 TR 20 DeNed Dok

Options :

S

2 B F.’Jﬂr

3$4F

L F/16



Question Number : 31 Question Id : 945596831 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Two parallel plates are 0.03 m apart. The intensity of electric field 1s 300 N/C. The

potential difference between the plates is

BOCH DSTPOBS HOXEE 3¢5 IS0 0.03 e, DEVSS T ed e3e5¢5 300

S5/ BIPeN02). €8 HOEE) SNEE FTIVANO IEEFEI0 DOED 2
Options :

% 80V

L, % 10V
L % 100V

4 90V



Question Number : 32 Question Id : 945596832 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

If a copper wire 1s stretched to increase its length by 0 .1%. the percentage of increase

in 1ts resistance will be

2,8 T B 0.1% FHER, €8 €35 IO DM F°e50 DOed?

Options :

207
1. o 0.4..-0
2 2%

L x 1%

0.1%
4. %



Question Number : 33 Question Id : 945596833 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The magnitude of ‘B’ from a conductor, if carrying 35A current, at a perpendicular

distance of 20 cm from 1t 1s in Tesla 1s

35 SO DANED (DTN DA &) 28 %80 HOG 20 cm ©0D
XS0 €5) DOVY) 9O ADHAT)L0Hh G Tch dIh B’ DENGd
(Bre)

Options :

5
L 3.5X10

-3
L x 35X10

3 % 0.315X107°

0.0315X107
4. %



Question Number : 34 Question Id : 945596834 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

A coil has a self inductance of 0.01 H. The current through it 1s allowed to change at a
rate of 1A in 107 sec. The Emf induced is

2,8 S3HTHE) HoHO 8%6eb 0.01 Q. €3 &5 LS 102 DEOS
DENFS (D0 1A 1375 )R 30708 GO 8¢ DS TreXE 220
2N 2)OEH ?

Options :

L 1Y



Question Number : 35 Question Id : 945596835 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In an LCR series circuit the voltage across R. L and C at resonance are 40V, 60V and
60V respectively. The applied voltage 1s

L-C-R 368 HOFS SO0 R, L 0O € DISS ST8528 Denssen
29RO G DI 40V, 60V s0OA) 60V e00e (DI o el
DN ?

Options :
L% 60 V

40V
2.

160 V

120V



Question Number : 36 Question Id : 945596836 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The electromagnetic wave do not transport
D $CI0DT.06h 5B0M5NEN T BaTred TACD
Options :
Charge

| DS es3F50

Energy
2 % 48

Momentum

3 x (099§ O

Information

Ao O0



Question Number : 37 Question Id : 945596837 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

For a prism of refractive index 1.732, the angle of minimum deviation is equal to the

angle of the prism, the angle of Prism is

2,8 DEZO TNEY 3823559 MEIEO 1.732 DEEO0 TNEY EAR DLIO 80,
HEE FeFDE HATFSHS HEE 0 DO

Options :

L% 300
) % 45°
3. o 6UU

4. % SUU



Question Number : 38 Question Id : 945596838 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In an interference experiment. the ratio of intensities of the bright and dark fringes is

16. The ratio of amplitudes due to the two slits 1s

5356 (DTBIHOCS,, TN 0BT DEE3 HEJe> e3(9¢5 TZNEY DI 16.

290NS 3°¢3 E095 DB DA ?
Options :

L% 21

2. @ '-I-]

3 % 21

4. ¢



Question Number : 39 Question Id : 945596839 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The region of electromagnetic spectrum that contains Lyman series is

DDA 06 SPHEI0 S TS (33 S0T (2 0eHO
Options :

Ultraviolet

- e9e3 S Seh &eTre)

Intrared

) % a00°C0E SBeIren
Visible
- Cdo)8§ SSearen

X Ray

X — 88¢egren
4. %



Question Number : 40 Question Id : 945596840 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The majority charge carriers in P-type semiconductor are
P- 350 @380 (DGR &53% aarsTen

Options :

Electrons

DOFRD

Holes

SOl e
2.9 =

Protons

Neutrons

SUARY

Chemistry

Section Id : 94559643
Section Number : 3
Section type : Online
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Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
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Mandatory
20

20

20

0

1
94559643
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Question Number : 41 Question Id : 945596841 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Principal quantum number is related to

(DTS 525030 Do A HoDOSODIE
Options :

Size of the orbat

98850 AB0E) DOSTEI0
1.¢

Spin angular momentum

o RSB0 (B35530

2.
Orbital angular momentum
3883 5309 1893530
3. %
Speed of electron

4 % OO(FTO Sfo



Question Number : 42 Question Id : 945596842 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In a period from left to right. electron affinity

D553 fHOG BoB8E DOANE SNOIFTD Ve
Options :

Increases

220N ENOE

1. ¥

Decreases

, % e (HeBHOE

Remains constant

;% OO 0LNOE

First increases and then decreases

SNEIE) DEHEDOE LHBA Haees DO

4, %



Question Number : 43 Question Id : 945596843 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following contain coordinate covalent bond
& 1808 53365 863089 $0D DO IAD 22057 EDASE

Options :
| % BaCl>

CsCl
%®
Mgo

NHy4
4.



Question Number : 44 Question Id : 945596844 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The kinetic energy of n moles of an ideal gas is given by the expression
n SO ) €8¢3¢5) SPain6Y) A30E), (€3 F§

Options :

| % 32RT

3/2nRT
2.



Question Number : 45 Question Id : 945596845 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Number of moles of glucose present in 540 grams of glucose 1s
540 |0 (°6%5 ¢S (1°6%5 Bws), S5 ) Howps
Options :

1.$:E

2. @ 3



Question Number : 46 Question Id : 945596846 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Chemically soap 1s
SOV eTo RS PAVR T INVIN TN

Options :

Sodiumn stearate

f-]
- SFECDO ROE)

Calcium stearate

5 % sOoHo WBE

Magnesium stearate

i) 20H0 VS

3. %

Ferric stearate

e BE



Question Number : 47 Question Id : 945596847 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The most stable hydroxide is
@350 PEIS r(ETEIB
Options :
| % LiOH
, % NaOH
3 # KOH

4 CsOH



Question Number : 48 Question Id : 945596848 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Water gas 1s a mixture of

$°E0 TP LN €3 (50 a[FD0

Options :

Cor+ H>
1. #

. Co+ H>

_— Co+ N>

4% Co+ H0



Question Number : 49 Question Id : 945596849 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

TUPAC name of CH;-CH2-CH>-CHj3 15

CH;-CHa-CHz-CH;s O308), TUPAC ¢
Options :

Butane

E
- AVIRATS

Pentane

5 & OB

2-Methyl propanol

2-03O |TFDTO

2-Methyl -1-Propanol
4 % 2-0BO -1 PO



Question Number : 50 Question Id : 945596850 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

On passing acetylene gas through red hot metal tube. the compound formed 1s
DVEIODS FONYD BT 52O 7558 LYW T° ST° DODIN IR BT
a0 S0

Options :

Toluene

| % Sed

Acetone

5 % GOV

Acetic acid

D0E3E e3000
3. %

Benzene

W 230238



Question Number : 51 Question Id : 945596851 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The shape and bond angle of ammonia molecule is

EIDTROIT LN 5B DB 20¢ 0
Options :

Tetrahedral. 109928!
25653¢528) 000, 109028!

Tetrahedral. 107948!
- 2568385028000, 107048

Pyramidal. 107°948!
DBNBD, 107°48!
3.9

Pyramidal. 109928!
DGO, 109°28!

4.%



Question Number : 52 Question Id : 945596852 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Sulphur uses  orbitals for bonding in H2S

HS S 5030 e8838rS e 2208506 &R0
Options :
Sp

SPp°

One S and one P
2,8 S B 2.8 P

3. %

Pure P-orbitals

DO P-e387800 )
4.9



Question Number : 53 Question Id : 945596853 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The oxidation state of fluorine is

0D TFEy €38 )88 D
Options :
-2 only
R o307 €553
-1 only
-1 307
2. ¥ :
+1 only
L x LTS

4 % -1 to+7



Question Number : 54 Question Id : 945596854 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The formula to calculate paramagnetic moment of a substance is
TT® @O0 (27050 B80T Q°ed0o

Options :

1s= Vus(S+2) BM
£

l.

s= \n(n+2) BM
2.¢

1s= n(n+4) BM

3. %

ts= nh

2T



Question Number : 55 Question Id : 945596855 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The molarity of 0.98% (w/v) H2SO4 solution is
0.98% (w/v) HaSO4 [£°9€90 BB0E) Swerde3 doeb
Options :

| v 01M



Question Number : 56 Question Id : 945596856 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

AICL;+CI — AICl4 . In this reaction AICI; is
AICL+CI— AICl, &8 ﬁ@f@s AlCI; PSR

Options :

Base

| % 500

Lewis salt

5 % QPONR OIEIO

Lewis acid

PO €300
3. ¢ '

Bronsted acid

ARSI

4, %



Question Number : 57 Question Id : 945596857 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In metallic conductor the cuurent is conducted by flow of

S 5080 S 580 (D7%:7°0 B 3 50° DB ST 0TI 0
Options :

Tons

€905

Atoms

5 % 0OTPENYEN

Electrons

v QO T

Molecules

4w COENYED



Question Number : 58 Question Id : 945596858 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

What 1s the most abundant element of the human body?
3552565 BB06S” e9HE HBSTEI0ES Eed FIN

Options :

Hydrogen

3 F
¢ DEES

Oxygen

E
- 35230

Nitrogen

AT
3. % &=

Carbon

L & 58I



Question Number : 59 Question Id : 945596859 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Substances which bring down the body temperature is

$68 &l |fieded NoT HETen
Options :
Antibiotics

05r0e320057¢38 y

Analgesics

5 % VT8

Antipyretics

|, CrOE3390¢38 )

Antimalarial

0Sr0e30TO0HO



Question Number : 60 Question Id : 945596860 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Glucose 1s converted mnto ethyl alcohol by

(0r8%25 &0 BBO €80T O o35°¢50,) OB
Options :
Maltase
ST

Zymase

v BOOE

Invertase

- 25500

Diastase
=
Biology
Section Id : 94559644
Section Number : 4
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

20

20

20

0

1
94559644
Yes



Question Number : 61 Question Id : 945596861 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Presence of more than two alleles of a gene is known as

2,8 230 50) AB0E) BOCH 0PI DBVZd O Eeryen DA 2HOT B
2 aDOETD

Options :
Pleiotropy

| % DOV (DT

Multiple allelism

. 20a30% G085 e

Codominance

LT LY = e
L % O 250°Cebe5 O

Incomplete dominance

. 900G 2253066 ¢o



Question Number : 62 Question Id : 945596862 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following biomolecules 1s correctly characterized
&8 18085 DO 225892209 0eS” DB DT 580TH2ESE
Options :

Lecithin - phospholipid found in cell membrane

o, BB - Ee2¢% et5063 Q) arF DD

Palmitic acid — Fatty acid with 18 carbon atoms

, % O3 3590 - 18 S°EIS €0 E)S ¢ 350

Adenine - Found in RNA only
, OB - RNAS' a5{¢h3 8D ) om

Alanine — R group 1s hydroxy methane

L O - S ) DB O R D370 EIE



Question Number : 63 Question Id : 945596863 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Evolutionarily. the first terrestrial plant to possess vascular tissues (xylem and

phloem) are

DBETD (800 DGO “DrPse §ea25rerr@cd” R &) TN DSVOT

SNE) JcsES [y €0 D) ?
Options :
Bryvophytes
i} 1233 )
1.

Algae

FoHeTren)
2. %

Pteridophytes
3 v DO

Gymnosperms

Dedyed Dazren

4, %



Question Number : 64 Question Id : 945596864 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Cistron can be defined as a
TR D DDASOMT DG FD0TITN)

Options :
Segment of DNA coding for a polypeptide

L TODDE $90DeTNE H0Terd) BT,) DNA @D|ED0

Sequence that appears in rRNA

, % RNA S Q0T (800

Sequence of amino acids in a polypeptide chain

- FOVDRE TENNS” RS’ @7 |$00

Region of DNA.. where DNA polymerase binds
DNA ar&)edB28 2000208 DNA S'Q 200

4, %



Question Number : 65 Question Id : 945596865 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The process of translation 1s terminated by

€9, 0¢ |D|8ADNEY A0 DT SPBE0 O

Options :
Sigma factor
. oM 52050 / (ardo2) 5850
1. &
Release factor

5 o DDA 52380

Rho factor

- 5 503%0 / 0o 52880

Sense codon

45 ONTES



Question Number : 66 Question Id : 945596866 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Basic anmuno acids are
5°6 @950 e3a07en)
Options :

Lysine

'?SL:
l'ﬁ?Z}n::m

Tryptophan and tyrosine

BT TS HBOID TBEVR

Serine and glycine

VDS HOAN TS

Leucine and valine

L w TR eNBON TR



Question Number : 67 Question Id : 945596867 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Downstream processing in DNA technology 1s

55 HOBIF2E DNA 05638 (80N’ ‘@18 ((E0H’ @

Options :
Culture of the host cells in a bioreactor

| DTTEOITEDS” BTN ST HGS0 T

Ligation of alien DNA with cloning vector

, x SODA0D DNA 0RO SAON FTEOS 2SHGTHE

Separation and purification of the desired product

s o OO Tz 18¢305:0 xBroOASTED o S Tobdo, HO Davho

Isolation of desired DNA fragment
. FPOIDOD 2EHD JHDSIE0



Question Number : 68 Question Id : 945596868 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which one among the following is a polysaccharide. whose monomer i1s fiuctose

molecule

%1808 73S DTS TS0 £OS FOFTDBE OO

Options :
Starch

1. % @DEQJ

Glycogen
820

2. %

Chitin

385

Inulin

SIS
4.



Question Number : 69 Question Id : 945596869 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which among the following is the function of ethylene ?
& 1808 7¢3S° OO TWNE) D DE?
Options :

Bolting in cabbage

50523285 S of (HEoH

Nutrient mobilization mto leaves

HEFPOS FASE Sarea

Stomatal closure

- (€5 SO(TPEN NFDS D)

Thinning of cotton. cherry and walnut
D8, TB. 7LE O PO, HEFOD DS

4 v TOFTDEIEY DTDROE



Question Number : 70 Question Id : 945596870 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Fleming. chain and Florey were awarded the Nobel Prize in 1945 for the work

related to

& @DpB0% D DDOM, TS HBA FlHB 1945 S SBS
2253003 [T

Options :
Penicillin

v IO

Statin

) x FES

Cyclosporin

- D5FHBS

Streptomycin

L x (DTS



Question Number : 71 Question Id : 945596871 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Visceral muscles are

06T0 (DBO) ocdoren e
Options :
Unstriped and mvoluntary

- DY) SNOAIN AODHO|edeh

Striped and involuntary

- BPed S0BA DAHO|e36b

Unstriped and voluntary

29QODOE3ed DA AADO|e3ed

Striped and voluntary

. 3ed 20BA DOHO eded

4.



Question Number : 72 Question Id : 945596872 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Assertion (A): In sponges. different types of cells are functionally isolated

Reason (R) : Nerve cells and sensory cells are absent in sponges

A: D)02EeS Begren (350 D25 1D 3T0n
R: HJ02E0S (DE3S) aedd SeTeen 25 SeTeen 50che)
Options :

Both (A) and (R) are true. and (R) 1s the correct explanation of (A)

LA oNBCN R BOCH QB0 R . A § QD adBe €9:)e006

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A).
A S0B8A5D R BO SBONS. SRR . A § dB S DedBed €9535¢D

(A) 1s true. but R 1s not true

AIBIO SR €63

Both (A) and (R) are not true
A DB R BOCD BN 5%



Question Number : 73 Question Id : 945596873 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is the Pseudo Coelomate

£08 3" DO s 388 BosrS0 DA &5 ) H80B0bs

Options :

Round worm

v (DOC8E3 sHSoth

Acron worm

5 % 25°0) QDD

Tape worm

3 % 0 oM/ 2T HSD

Ship worm

2uCd a)OMH

4, %



Question Number : 74 Question Id : 945596874 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Heart in amphibians 1s

250000 HOT HCLON H8othod
Options :
Three chambered

o3 Hchen

1.

Two chambered

, % 2(icoen

Four chambered

Incomplete four chambered

90RO 4 (fenen



Question Number : 75 Question Id : 945596875 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The volume of air involve in breathing movement is estimated by

1808 7S B GHTBFAOD 72 ECDEES S &) HOSIEI0
QO DONDHOE

Options :

Spirometer

v P0G

1

Barometer

SN LOFANALS

Speedometer

. 528006

Hygrometer

r(faned

4, %



Question Number : 76 Question Id : 945596876 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following

Bod T°AQ 2350850505
List—1 List —IT
e -1 ardeen - 11
A. Right atrioventricular valve a. Tricuspid valve
B0 808 - 2885° a0 S EIOWEFIATe
B. Coronary Sinus b. Aortic valve
5838 DR 0530 B0
C. Inferior vena cava ¢. Bicuspid valve
MeTe NN IS rNTe) eicd So% Earédo

D. Left arterio-ventricular valve d. Valve of Eustachian
DCHeD B8O - 28052 80 AIYPRAN® A3NEY O ¢
e. Valve of Thebesius

TBOCHD AB0EY) 7O ¢

Options :
| % A-e,B-a C-d,D-c

» « A-a, B-e, C-d, D-c



3 % A-c. B-d. C-a. D-b

A-b. B-c. C-b, D-a
4. %



Question Number : 77 Question Id : 945596877 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Juxta glomerular apparatus (JGA)

250, Db HBEG0 (JGA)

Options :

Afferent arteriole + Efferent arteriole

| DT PO + @I D

JG cells + Macula densa

, @ 2 EETED + APHO IO B

Macula densa +Macula Lutea

QAPED IO T + PB0 YO Eredasy

Macula densa + Vasarecta

e P80 ) T + 0T



Question Number : 78 Question Id : 945596878 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Study the following about brain and choose the correct ones

I. Hippocampus is responsible for formation and recall of memory
II. Inferior colliculi of midbrain are concerned with auditory function

III. Pons varoli can moderate the function of respiratory rhythm centre

A HO0D & (800 7¢3 ©EH500N0 TONOE DA DB a7¢3
DOTNE 0
L SIS0 08 DTN TAHERE 8ok 85O
RDONTT8 23°¢H565 63a3e N0
I 2708 $8 Bgy 9D)B0HE §OF05O (35569 HASHS
DOD0C0 DA God
ML ') IO, BT B0 00625 B30, STOesIBEID
QOHOoE30THND

Options :

l.

Only I and III
1306050 OT 6357553

®



Only IT and III
IT o603 III o557 €533

2. %

Only I and IT
10605 I 357 ed a0
3. %

LII&IIT
v L II o080 OI



Question Number : 79 Question Id : 945596879 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following and choose the correct combination

Bod T°A 225086505
List — I List — II
e -1 arderen - 11
A. Retatestis a. Scar of degenerated tissue
BEF SN0 8 50D Seezrer0 By, (20
B. Carpus albicans b. Secrete inhibin
S° R @E))5°Q) ODOD ARDQ
C. Sertoli cells ¢. Dorsal diverticulum of urethra
20O Eeren ASnB(E AB0EY BBHNO BIBve0
D. Uterus musculinus d. Network formed by somniferous tubules

K0S adwed (or)daHo  F) DR Ergen® ) e
DSBS TS50
e. Secrete prostaglandins
I OGN (D0

Options :



| % A-e.B-a, C- d. D-c

A-d. B-a. C-b. D-¢
2.

3 % A-c. B-d. C-a. D-b

A-b. B-c. C-b. D-a
4. %



Question Number : 80 Question Id : 945596880 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

MTP means
MTP &
Options :

Multi trade practices

00 & 1§D

Malthusian theory on population

. SODONS Ber DE0 S0
2.

Multiple temporary frequency
DS BIONEE (DB

Medical termination of pregnancy

DAES TIBTAS & DT

4.+

English
Section Id : 94559645
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory



Number of Questions : 20

Number of Questions to be attempted : 20
Section Marks : 20
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 94559645
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 945596881 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Plane was not allowed to take because of bad weather conditions
Options :

5 o Off

, » BothAandB

, » None of the them



Question Number : 82 Question Id : 945596882 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

When I to the hospital, the doctor performed the operation
Options :

| % Gone

, « Went

Going

3. %

. Go
4, %



Question Number : 83 Question Id : 945596883 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

1 English for twelve years
Options :
Am teaching
*
) o Have been teaching

5 % Will be teaching

4% Was teaching



Question Number : 84 Question Id : 945596884 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The computer class starts at 8:30 AM the morning

Options :
On

1. =

2'H_J,,,In

At

3. %

, = None of the them



Question Number : 85 Question Id : 945596885 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

It's wet and rainy outside today. You go out without an umbrella

Options :

L Shouldn't

) % Won't

Don't have to
3. %

Should



Question Number : 86 Question Id : 945596886 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The whole day, the boys to the cricket commentary

Options :

| % Listen
» % Will listen
Has listened

3. %

Lo Are listening



Question Number : 87 Question Id : 945596887 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The diction exercises will help one learn how to clearly
Options :

| % Write
» « Speak

; » Read

Listen
4. ®



Question Number : 88 Question Id : 945596888 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

forms of speech in a classroom is an integral part of pupils’ success
Options :
L& Correct
5 % Incorrect

Improper

4% Invalid



Question Number : 89 Question Id : 945596889 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The Prime Minister will appear television tonight
Options :
1w On
In

2. %

3 % At

None of the them



Question Number : 90 Question Id : 945596890 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

I ask a question? Yes, of course
Options :

L May
) % Must

; % Should

4 % Wil



Question Number : 91 Question Id : 945596891 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

is the one who starts the communication
Options :

Sender
v

, % Receiver

Feedback

3. %

4 % Noise



Question Number : 92 Question Id : 945596892 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

I wanted to go to the park, my mother refused

Options :

L But

3. % S0

~ And
4, %



Question Number : 93 Question Id : 945596893 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

They built this temple 3,000 years ago. This must a great civilization

Options :

Not have been

Was

2. %

, % Has been

Have been



Question Number : 94 Question Id : 945596894 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Rajan in this factory since 1991

Options :

~ Worked
1. %

Work

2. %

3 % Works

Has been working
4.



Question Number : 95 Question Id : 945596895 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

We the last train yesterday
Options :

| Take

, % Is taking

3 Took

4% To take

Question Number : 96 Question Id : 945596896 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Anu and Anil very close to me
Options :
|« Are

22315

3 % Were

4 » Have been



Question Number : 97 Question Id : 945596897 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

This servant always very hard
Options :

L Works

 Worked
2. %

3 % Working

4% Work



Question Number : 98 Question Id : 945596898 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

She at the picture carefully and read the name of the artist

Options :

Had looked
1. %

Has looked

, » Have looked

Look

4. %



Question Number : 99 Question Id : 945596899 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The prime minister received by his cabinet ministers
Options :

| 18
> % Were

3. % Has

4« Was

Question Number : 100 Question Id : 945596900 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

I cannot decide about science course

Options :

| ® Choose
» % Chose
; » Have chosen

L Choosing



